Circles
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A, B, Cand D are points on the circle as shown. p
|£4BD|= 37° and |£4DB|= 53°.

(i) &7 Explain why [BD]

37° 33°
15 a diameter of the circle. B 46° D
(ii) & Giventhat |/BDC|= 46°,
find | ZCBD)|.
C

a, b, ¢, d and e are points on a circle

and |Zbde| = 108°.
Find () &  |Zbad.

G) &  |Zbed.

giving a reason for vour answer 1n each case.




O/O/OU.sc/t, MQ C«S Swu
Eo [¥0°

A"Q(lﬂ o)

sw A C ‘

ba and bd are tangents to the circle

of centre ¢. -
[5¢] intersects the chord [ad] at the
point e. b
(i) &7 Prove that A abcis
congruent to A dbe .
d

(i1) & Hegce, prove that [be]

bisects the chord [ad].




lab| = |ed).

Prove |ad = |be|.

A circle, centre ¢, has a chord [ab] of length 8.

d 1s a point on [ab] and cd 1s perpendicular to ab. b
| ed|=3. 1
& Find the length of a diameter of the circle.
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